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TOPIC 29: AGGREGATE SUPPLY 
 

I. The Shape of Things 

a. The Long-Run Aggregate Supply Curve captures the fundamentals of 

an economy. As such, it is a vertical line: the real GDP is $50 billion 

or $9 trillion. No matter what inflation is. 

 
 

i. Recall real growth rates are adjusted for inflation. If prices 

double, GDP should double. But GDP adjusted for inflation 

should be the same. 

ii. One of the most fundamental assumptions of the LRAS is that 

wages and prices are completely flexible—that’s what the 

“long-run” means.  

iii. Thus higher prices don’t induce higher output. Why should it? 

If the price level increases, input prices (including materials and 

labor) also increased. 

iv. This also means we’re at full-employment at the LRAS. If 

equilibrium output didn’t match full-employment, wages would 

adjust so the only unemployment was the natural rate. 

II. A Sticky Situation 

a. It’s now that things get sticky…literally! Well, kind of literally. 

b. Economists typically assume immediate adjustments. If the 

government prints a bunch of money, wages will automatically 

compensate. Prices will instantly increase. Really? 

c. In reality, prices and wages are “sticky.” They don’t immediately 

adjust to changes in the money supply or money velocity. 
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i. Contracts inhibit price and wage movement. Billy the farmer 

has a contract with Andrea the restaurateur where Andrea will 

buy 1,000 pounds of lettuce per month at $0.50 a pound. This 

contract lasts a year, which allows both Billy to plan his crop 

and Andrea to plan her menu. That price is locked in. 

ii. Menu costs inhibit price movement. At Andrea’s restaurant, a 

Big Salad cost $5. If the price of tomatoes increases, it would 

be costly to change the menu to reflect the new cost. She 

probably won’t bother, especially if she thinks this is a 

temporary change in cost. 

iii. Consumer expectations inhibit price movement. Customers 

expect many prices to be consistent even if costs are not. They 

hate it if, say, their daily intake of Starbucks costs a few nickels 

more today than it did yesterday. They hate it more than they 

like it when prices unexpected fall because, in general, 

consumers like consistency. It helps them plan their budget, 

enabling comfortable routine and consumption smoothing. So 

firms often opt to absorb higher costs and reap the benefits of 

lower costs—which in theory will even out profit-wise—rather 

than constantly change prices. 

III. The Shape of Things 

a. In the long-run, both input and output prices are flexible. 

i. This is a completely vertical line, as we discussed. 

b. In the immediate short-run both input and output prices are sticky. 

i. This is a completely flat line because the price level can’t 

change. This is pretty boring, though, and limiting our analysis 

to just the very near future doesn’t happen much. We will 

ignore any further details on this subject. 

c. In the short-run, input prices are sticky but output prices are flexible. 

i. This is the first curve that actually looks like a curve. It’s 

upward sloping and convex. 



 
ii. SRAS slopes up because changes in the price level will change 

what something is sold for (output prices) but not what it costs 

to produce (input prices). This causes profits to increase and 

additional productivity to follow. (In this way, it is very similar 

to our micro-supply curve…greater profits to the supplier 

induce greater output.) 
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